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Answer briefly any Six parts from the followings.

Define Pure quadratic equation.

Solve by fuctorization 4—-32x =17x°

1 1
Write in standard form ——- 1 =3
x+4 x-4

Find the naturc ofroots of quadratic squetion,
6x’ ~8x+3=0

Evaluate (1-3@—3a%)*

Write the quadratic squation having roors | +
If yoc x and y =7 when x=3 FindK.

Dsfine propartion.

6x2=12

P,1-i

x-y

Find a mean proportional between 3° — p? | 2

Answer briefly any Six parts from the followings.

What is Partial Fraction.

|
Resolve —— J 1ato Parial Fraction,
X

Find 4" ifU={1,2.3, 8} and A={23,57)
Findaandbif 2a+5,3)=(7 b--a)
Find LxM if L={b,¢} and M={d.c)

Write all Subset of the Ser {a, b}

Define Maode,

Find the arithmetic mean by dircet method.
12,14,17,20,24,29,35,45

Find median for the marks 82,93 ,86,92 79

x+y
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Answer briefly any Six parts from the followings.  6x2=12
Define degree.
Convert 6.1 radians into degree.
Find the distance travelled by a cyclist moving on a cirele ofradiug

| 5m, if he makes 4.5 revolulion,

Find r when 9:% radians , 1 =0cm

Deline projection.
Define collineer points,
Define In-centre.
Define Escribed eircle.

Define Polygon.
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Note: Attempl any Three Quéstions.Q.9 is compulsory. (8x3=24) & (389 A of 2 F ezl atirf e (Find

5.a.  Solve the equation ¥ 454 =15x8
b. Ifer, [ are the rovts ofthe equation 4x* —5x+6=0,
2 2
ther find the value of —— + ﬁ-—
a
6a. [Ha:h=c:d (a,b,e,d#0). then show that
a_ [a+d
b b1 d?
Gy —
b. Resolve into partial fraction = —1——;"-- e
(x+A"+1D)
Ta 1fU={1,23,,20} N=(1,3,579,15,1820} Y={135,,17}
thenprovethat Y —X =¥ nX’
b, Find standard deviation for data
L1500, 12400, 15000, 14500, 14800
8.2, The given point P(3 ,-2) lies on the terminal side of @ . Find
quadrantof & and all six trigonometric ratios,
b.  Escribe s circls upposite to veriex C'toa A4BC with sides

IAB| =3em IBC[ =3 cm and |(’A| =3 om

Prove that Iftwo chords of a circle are congruent then they
OReeeo

Prove that any two angles in the same segient ul'a circle are

will be equidistant from the centre.
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